TECHNICAL DATA SHEET

173

COMPOSITE SQUARE FLANGE JACK RECEPTACLE  |R187.403.000

Series 7/16
PANEL SEAL — FRONT MOUNTING M3 SCREW COMPOSITE
4 hol 3.45
oles @ Qo_7

i 1 /O-ring

M29 x 1.5

M3 x 0.5

5.6

21.7

([PANEL CUT OUT |

4 holes

(

Scale 1:1

A
B 3.7 3.6
C

All dimensions are in mm.

COMPONENTS

MATERIALS

PLATING (um)

BODY

CENTER CONTACT
OUTER CONTACT
INSULATOR
GASKET

OTHERS PARTS

Issue :0935 C

COMPOSITE MATERIAL - BLACK
BRONZE

BRASS

PTFE

SILICONE RUBBER

SILVER 5 OVER COPPER 0.5
SILVER 3 OVER BBR 0.5

In the effort to improve our products, we resetve fight to make changes judged to b RAD[ A L ]—k‘@

necessary.




TECHNICAL DATA SHEET | 2/3

COMPOSITE SQUARE FLANGE JACK RECEPTACLE  |R187.403.000

Series 7/16
PANEL SEAL — FRONT MOUNTING M3 SCREW
COMPOSITE
PACKAGING SPECIFICATION
Standar Unit Othel
6C ‘W’ option Contact us
ELECTRICAL CHARACTERISTICS ENVIRONMENTAL
Impedanc 50 Q Operating temperatur  -40/+8t ° C
Frequenc 0-7.5 GHz Hermetic se: Atm.cm3/s
VSWR *1.06 + 0.000( x F(GHz) Max | Panel leakac IP 67
Insertion los 0.0t VF(GHz) dB Max
RF leakage - ( NA - F(GHz)) dB Maxi
Voltage rating 140C Veff Maxi
Dielectric withstanding voltag 270C Veff mini
Insulation resistance 10000 MQ mini OTHER CHARACTERISTICS
Assembly instruction
Other::
*VSWR : 1.06 between DC to 3GHz
MECHANICAL CHARACTERISTICS *VSWR : 1.10 between 3 to 7.5GHz

PIM3:-125dBM under 2 carriers of +43dBm
Center contact retenti

Axial force— Mating ent 20C N mini
Axial force— Opposite en NA N mini
Torque NA N.cm min

Recommended torq

Matinc N.crr

Panel nt N.crr
Mating life 50C Cycles min
Weight 14.668( ¢

Issue :0935 C —
In the effort to improve our products, we resetve fight to make changes judged to b RAD[ A L L@

necessary.




TECHNICAL DATA SHEET

[ 3/3

COMPOSITE SQUARE FLANGE JACK RECEPTACLE

PANEL SEAL — FRONT MOUNTING M3 SCREW

R187.403.000

Series 7/16
COMPOSITE

Assembly instruction

Prior to the installation, the outer contact iglstly protruded from the rear flange (0.1~0.45mny).

During the installation, the outer contact is pushmeside the composite housing.
In its final position, the outer contact is alignedh the rear flange, and in contact with the pan
During mating, the outer contact is pressed agé#wespanel, reducing significantly the IM3

generation.

Issue :0935 C

Before assembly

Same plane
(body and outer contact)

After assembly

0.1~0.45mm
Pt e S

I Pansl

Panel

N

4%

In the effort to improve our products, we resetwe tight to make changes judged to bRAD[AL l—l‘t@

necessary.




X-ON Electronics

Largest Supplier of Electrical and Electronic Components

Click to view similar products for RF Connectors/ Coaxial Connectors category:
Click to view products by Radial manufacturer:

Other Similar products are found below :

8915-1511-000 89674-0827 6001-7071-019 6002-7051-003 6002-7551-202 6059674-1 619550-1 630059-000 M39030/3-01N 6500-7071-
046 6769 CXO050L2AQ 7002-1541-010 7002-1542-011 7004-1512-000 7009-1511-004 7010-1511-000 7029-1511-060 7101-1541-010
7101-1571-002 7145-1521-002 7203-1571-003 7209-1511-011 7210-1511-015 7210-1511-019 73137-5015 73216-2241 73404-2300 7405-
1521-005 7405-1521-802 8527 8547 FS11V 877931 8808-1511-001 9049-9513-000 9074-9513-000 9101-9573-002 910A205F 9130-
9573-002 PL11SC-026 PL375-33 PL40-5 PL74C-221 PL75MC-217 PL803-7 1200690078 1-201144-1 R10/003010W R110A172100



https://www.x-on.com.au/category/connectors/rf-interconnects/rf-connectors-coaxial-connectors
https://www.x-on.com.au/manufacturer/radiall
https://www.x-on.com.au/mpn/radiall/89151511000
https://www.x-on.com.au/mpn/molex/896740827
https://www.x-on.com.au/mpn/radiall/60017071019
https://www.x-on.com.au/mpn/radiall/60027051003
https://www.x-on.com.au/mpn/radiall/60027551202
https://www.x-on.com.au/mpn/teconnectivity/60596741
https://www.x-on.com.au/mpn/teconnectivity/6195501
https://www.x-on.com.au/mpn/teconnectivity/630059000
https://www.x-on.com.au/mpn/amphenol/m39030301n
https://www.x-on.com.au/mpn/radiall/65007071046
https://www.x-on.com.au/mpn/radiall/65007071046
https://www.x-on.com.au/mpn/eaton/6769
https://www.x-on.com.au/mpn/teconnectivity/cx050l2aq
https://www.x-on.com.au/mpn/radiall/70021541010
https://www.x-on.com.au/mpn/radiall/70021542011
https://www.x-on.com.au/mpn/radiall/70041512000
https://www.x-on.com.au/mpn/radiall/70091511004
https://www.x-on.com.au/mpn/radiall/70101511000
https://www.x-on.com.au/mpn/radiall/70291511060
https://www.x-on.com.au/mpn/radiall/71011541010
https://www.x-on.com.au/mpn/radiall/71011571002
https://www.x-on.com.au/mpn/radiall/71451521002
https://www.x-on.com.au/mpn/radiall/72031571003
https://www.x-on.com.au/mpn/radiall/72091511011
https://www.x-on.com.au/mpn/radiall/72101511015
https://www.x-on.com.au/mpn/radiall/72101511019
https://www.x-on.com.au/mpn/molex/731375015
https://www.x-on.com.au/mpn/molex/732162241
https://www.x-on.com.au/mpn/molex/734042300
https://www.x-on.com.au/mpn/radiall/74051521005
https://www.x-on.com.au/mpn/radiall/74051521005
https://www.x-on.com.au/mpn/radiall/74051521802
https://www.x-on.com.au/mpn/abbatron/8527
https://www.x-on.com.au/mpn/abbatron/8547
https://www.x-on.com.au/mpn/belden/fs11v
https://www.x-on.com.au/mpn/winchester/877931
https://www.x-on.com.au/mpn/radiall/88081511001
https://www.x-on.com.au/mpn/radiall/90499513000
https://www.x-on.com.au/mpn/radiall/90749513000
https://www.x-on.com.au/mpn/radiall/91019573002
https://www.x-on.com.au/mpn/winchester/910a205f
https://www.x-on.com.au/mpn/radiall/91309573002
https://www.x-on.com.au/mpn/radiall/91309573002
https://www.x-on.com.au/mpn/belfuse/pl11sc026
https://www.x-on.com.au/mpn/belfuse/pl37533
https://www.x-on.com.au/mpn/belfuse/pl405
https://www.x-on.com.au/mpn/belfuse/pl74c221
https://www.x-on.com.au/mpn/belfuse/pl75mc217
https://www.x-on.com.au/mpn/belfuse/pl8037
https://www.x-on.com.au/mpn/molex/1200690078
https://www.x-on.com.au/mpn/teconnectivity/12011441
https://www.x-on.com.au/mpn/radiall/r107003010w
https://www.x-on.com.au/mpn/radiall/r110a172100

